AToF D TP Toe3, DooD eI, B3

FOeT,3NY PP (Volume of Solids)
N =3 N 3, RO V3.0 320D ]

(Understand the following Explanation and Fill in the correct answer)

N\ esobh@ RS BT (Volume of Cuboid)
= T, x 91 x D30 (length x breadth x height)

=lxbxh =10x5x7 =350 cm?

P
=y

WOT W PO (Volume of Cuboid)
= IO X WD X WD) (Side x Side x Side)

=axaxa =a’=5=125cm?

S5cm /

VT3, 7 cm, N 4 cm D3B), 3.0 5 cm YOIE 0D 3 VX FIHO

Volume of Cuboid of Length 7 cm, breadth 4 cm and height 5 cm

NG, 12 cm, &N 7 cm DH3), 230 8 cm VIS 0D 3B VT IR
Volume of Cuboid of Length 12 cm, breadth 7 cm and height 8 cm

cm?

250®) 6 cm YOI WOBHRIE HRB FIPO

Volume of Cube of side 6 cm cm?

25083 12 cm 90 WPTHIB FIB PO

Volume of Cube of side 12 cm
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